
versione 0
Equazioni differenziali - 0



DSolveA93 y''@xD + 2 y'@xD - 8 y@xD � 100 ã-2 x, y@0D � 5, y'@0D � 10=,

y@xD, xE

99y@xD ® ã
-2 x I-4 + 9 ã

10 x�3
- 10 xM==

Funzioni di due variabili, punti critici - 0

g@x_, y_D := 3 x2 -
2 x3

3
- 4 x y + 2 y2;

f@x_, y_D :=
3

2
g@2 x - 1, 3 x + 4 yD; Print@Expand@f@x, yDDD;

grad = ExpandA9¶xf@x, yD, ¶yf@x, yD=E;
Print@gradD;
Print@Solve@grad � 80, 0<, 8x, y<DD;
H@x_, y_D = 99¶x,xf@x, yD, ¶x,yf@x, yD=, 9¶y,xf@x, yD, ¶y,yf@x, yD==;
Print@Simplify@MatrixForm@H@x, yDDDD;

PrintBSimplifyBMatrixFormBHB
1

2
, -

3

8
FFFF;

PrintBSimplifyBMatrixFormBHB1, -
1

2
FFFF;

Plot3D@f@x, yD, 8x, -1, 1<, 8y, -1, 1<D
Null

11

2
- 6 x + 21 x2 - 8 x3 + 24 y + 24 x y + 48 y2

9-6 + 42 x - 24 x2 + 24 y, 24 + 24 x + 96 y=

::y ® -
1

2
, x ® 1>, :y ® -

3

8
, x ®

1

2
>>

K
42 - 48 x 24

24 96
O

K
18 24

24 96
O

K
-6 24
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O
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Integrale doppio - 0

f@x_, y_D :=
3 ã2 x

2 - 3 y + y3
;

SimplifyB:à
0

Log@yD

f@x, yD âx,

à
1

ã

à
0

Log@yD

f@x, yD âx ây>F

:
3 I-1 + y2M

2 2 - 3 y + y3
, H-1 + ãL 2 + ã >

Numeri complessi - 0
SolveAz2 + 6 z + 9 - 18 ä � 0, zE

88z ® -6 - 3 ä<, 8z ® 3 ä<<

SimplifyB:
-6 - 3 ä

3 ä
, 1 �

-6 - 3 ä

3 ä
>F

:-1 + 2 ä, -
1

5
-
2 ä

5
>

Matrici, autovalori - 0

a =

0 2 0

0 0 -2

-2 0 0

; MatrixForm@a.Transpose@aDD

4 0 0

0 4 0

0 0 4

Eigenvalues@aD

92, -2 H-1L1�3, 2 H-1L2�3=

Re@%D

82, -1, -1<

Im@%%D

:0, - 3 , 3 >

Eigenvectors@aD

:8-1, -1, 1<, :
1

2
K1 - ä 3 O, 1 +

1

2
K-1 + ä 3 O, 1>, :

1

2
K1 + ä 3 O, 1 +

1

2
K-1 - ä 3 O, 1>>

versione 1
Equazioni differenziali - 1
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DSolveB:8 y''@xD + 2 y'@xD - 3 y@xD � 100 ã
1

2
x, y@0D � 5, y'@0D � 10>,

y@xD, xF

99y@xD ® ã
-3 x�4 I2 + 3 ã

5 x�4
+ 10 ã

5 x�4 xM==

Funzioni di due variabili, punti critici - 1

g@x_, y_D := 3 x2 -
2 x3

3
- 4 x y + 2 y2;

f@x_, y_D :=
3

2
g@2 x - 3, 3 x + 4 y - 1D; Print@Expand@f@x, yDDD;

grad = ExpandA9¶xf@x, yD, ¶yf@x, yD=E;
Print@gradD;
Print@Solve@grad � 80, 0<, 8x, y<DD;
H@x_, y_D = 99¶x,xf@x, yD, ¶x,yf@x, yD=, 9¶y,xf@x, yD, ¶y,yf@x, yD==;
Print@Simplify@MatrixForm@H@x, yDDDD;

PrintBSimplifyBMatrixFormBHB
3

2
, -

7

8
FFFF;

Print@Simplify@MatrixForm@H@2, -1DDDD;
Plot3D@f@x, yD, 8x, 1.4`, 1.6`<, 8y, -0.89`, -0.86`<D
Plot3D@f@x, yD, 8x, 1.5`, 2.5`<, 8y, -0.1` 0.5`, -0.5`<D
Null

105

2
- 60 x + 45 x2 - 8 x3 + 48 y + 24 x y + 48 y2

9-60 + 90 x - 24 x2 + 24 y, 48 + 24 x + 96 y=

:8y ® -1, x ® 2<, :y ® -
7

8
, x ®

3

2
>>

K
90 - 48 x 24

24 96
O

K
18 24

24 96
O

K
-6 24

24 96
O
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Integrale doppio - 1

f@x_, y_D :=
3 ã3 x

8 - 4 y + y4
;

SimplifyB:à
0

Log@yD

f@x, yD âx,

à
1

ã

à
0

Log@yD

f@x, yD âx ây>F

:
-1 + y3

8 - 4 y + y4
,
1

2
- 5 + 8 - 4 ã + ã

4 >

Numeri complessi - 0
SolveAz2 - 4 z + 4 - 8 ä � 0, zE

88z ® -2 ä<, 8z ® 4 + 2 ä<<

SimplifyB:
-2 ä

4 + 2 ä
, 1 �

-2 ä

4 + 2 ä
>F

:-
1

5
-
2 ä

5
, -1 + 2 ä>

Matrici, autovalori - 0

a =

0 -4 0

0 0 4

-4 0 0

; MatrixForm@a.Transpose@aDD

16 0 0

0 16 0

0 0 16

Eigenvalues@aD

94, -4 H-1L1�3, 4 H-1L2�3=

Re@%D

84, -2, -2<
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Im@%%D

:0, -2 3 , 2 3 >

Eigenvectors@aD

:8-1, 1, 1<, :
1

4
K2 - 2 ä 3 O, -1 +

1

4
K2 - 2 ä 3 O, 1>, :

1

4
K2 + 2 ä 3 O, -1 +

1

4
K2 + 2 ä 3 O, 1>>
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